3) 4Bx-25

5(0:-5)

Dy |
Ngt-Saceabl

70 b 25 b

Jab | 5@

B 09918y

o (- 8x)



) Y0 - 3r

(5r-0)(8r~5

)

25 TS












Factoring x* + bx + ¢ (a = 1)

the x factor

look now, but here
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X% +bx + C

To factor a trinomial of the form above, you st find
two in‘tegers that MULTIPLY TO C, AND ADD UP TO B.

a) X2+ 7x + 12

(o) mes ) -
5 Chack,

b) n®+9n+ 20

(ﬂ%@(n*@

c) h?+ 9h + 18
Ch%@@ﬁ&

éer 2+ h™ |D



d) a® + 10a + 24
(gur@ s CA

e) k?+ 6k +5

(me@

f)y*+2y+1

(g0



g) X° - 14x + 49 B
(X N x=?) i

h) n? - 17n+72

fa—a)(n—2 )

i) h?- 15h + 50

Ch=) (=S )



j) @ - 16a+ 48

[@ﬂ%(&’/}\
K) K2 - 3k + 2
/k-é\(K[\
) y2-17y + 70

CEDITEN



m)x? + 3x - 18 ﬁ
(x+ &) x=2) 42 3
¢

0) h?+3h-10

(A+5)(h—2)




p) @ + 3a - 54

@1+@\@/¢J

q) ké + 4k - 45

(k + ) (k-5 )

r) y° + 3y - 28

(4N (=4



s) x?-2x-63

(x=1) [x+7)

1) n-2n-3

(ﬂ f@ (fHJm

u) h?-12h - 64

(h=16) ()



v) @®-14a-72

(@-/5@@* )

w) k2 - 26k - 56

(e 28)(k+2)

x) y* - by - 84

SRR



Factor out a GCF first!l!

1) 4y2+ 12y + 8

2) 2x% - 8x - 24

3) 3¢ - 15¢ + 12



4) 3a% + 30a + 63a

5) 2b? + 10a + 12

6) 5x? - 15x - 140



REVIEW:

a) Graph the following quadratic function in standard form:
f(x) = x*+ 10x + 20 T

- N w L) -

' ' ‘ . '
-] w £ w LN}

Vertex: AOS: y-int:

(INT) Domain: Range:
9




b) Graph the following quadratic function in vertex form:

fg=t-2P=1  FIFETrErD

= N W & W

&l & & [N

Vertex: AQS: y-int:

(INT) Domain: Range:




